
  

APRIL 2021  71204/BRA2A 

Time : Three hours Maximum : 75 marks 

SECTION A — (20 × 1 = 20 marks) 

Answer ALL the questions. 

 Choose the correct answer : 

1. The Industrial Revolution took place in ––––––––– 

(a) England  (b)  Germany  (c)  France  (d) America  

2. –––––––––––  was the first invention in the textile 
field.  

(a) Mule  (b)  Water frame  (c)  Flying shuttle  
(d)  Spinning Jenny   

3. The Enclosure Act was passed during –––––––––– 

(a) George I (b)   George  II  (c)  Henry IV   
(d)  Richard II  

4. –––––––––––   paid much attention on the rotation 
of crops.  

(a)  Jethro Tull  (b)  Townshend  (c)  coke   
(d)  Bakewell  
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5. –––––––––––   was a by-product of French 
Revolution.  

(a) Romanticism (b) Puritanism  
(c)  Transcendalism   (d)  Teetotalism.   

6. Corn Law was passed to protect the interest of the 
–––––––––––   

(a) aristocrats  (b)  traders  (c)  political leaders   
(d) agriculturists 

7. Jenner discovered vaccination to check –––––––––  

(a)   Small pox  (b)  measles  (c)    mumps  (d)  polio 

8. John Howard and Elizabeth Fry were the ––––––– 

(a) Puritans (b) Protestants (c)  Humanitarians  
(d)  Revolutionaries   

9. The defective distribution of seats in Parliament 
gave rise to Reform Bill in –––––––––––   

(a)  1830  (b)  1831  (c)  1832  (d)  1833 
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10. The children of the upper and middle class went to 
the –––––––––––   school. 

(a) Public  (b)  Grammar  (c)  Church  (d) Village    

11. Alice and John are Lamb’s –––––––––––   
children. 

(a)  real  (b)  imaginary  (c)  foster  (d)  none of 
these    

12. Ruskin says that modern education is –––––––––– 

(a)  artistic  (b)  materialistic  (c)  realistic   
(d)  archaic   

13. ‘Lucy Gray’ tells the story of a –––––––––––   girl.  

(a)  innocent  (b)  adolescent  (c)  wicked   
(d)  orphan  

14. The mariner  stopped three young men on their 
way to a –––––––––––   

(a)  fair  (b)  festival  (c)  church  (d)  wedding.  
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15. The expression on the face of the statue of 
Ozymandias is one of –––––––––––     

(a)  admiration  (b)  anger  (c)  contempt  
(d)  despair 

16. The nightingale sings the music of –––––––––––    

(a)  autumn  (b)  winter  (c)  spring  (d)  summer   

17. Ernest leads a scandalous life in pursuit of –––––– 

(a)  Pleasure  (b)  riches  (c) fame  (d) honour 

18. Jack proposes to –––––––––––   

(a) Cecily  (b)  Miss Prison  (c)  Gwendolen   
(d)  Lady Bracknell   

19. The name of Miss Harisham’s manor is ––––––––  

(a)  Satis  House  (b)  Lockmont  (c)  Satyr  House  
(d)  Larchmorit 

20. Jaggers obsessively  –––––––––––    

 (a)  Straightens his hair  (b)  adjusts his hair   
(c)  signs his name  (d)  washes his hands  

 

[P.T.O.]
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SECTION B — (5 × 5 = 25 marks) 

Answer any FIVE questions in 200 words each. 

21. What  are the similarities between Alice, the 
mother and Alice, the daughter?  

22. How does Hazzlitt describe the joy of solitude?  

23. How did Lucy die? 

24. Describe the terrible deed of the mariner?  

25. Why did Keats call the song of nightingale as 
immortal?  

26. Write a short note on Bun burjist?  

27. How does Pip’s day at the Mises Havisham’s house 
change him forever?  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions in 300 words each. 

28. How does Ruskin advocate the way to read books?  

29. “To strive, to seek, to find and not to yield”. 
Illustrate with reference to “Ulysses”. 

30. “Dover Beach” expresses frustration and 
hopelessness of the modern chaotic world”. 
Explain.  
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31. Write an essay on the theme of hypocriscy and 
inventiveness in “The Importance of Being 
Ernest”.  

32. Discuss Great Expectations as a bildungsroman 
novel.  

  

———————  


